Parts List «..x

EaDUEIN -
A———————yyygy
Model: BCS254H 18—V RF3—F 524860

BCS254H(Y18)

BIGIUI

2019.08.






MmEROIEAIZONT

1.

o ok wN

B

~N o O A 0N =

SO TIEXDEIE

wiEs (k) - BRES - BRa - HEZHETILY,

INFEER (TR R DEEKRESSE TSI,

EBamEwsd THILMIERMA] ZZEATIL,
AKEAKRITEBLI-DDEHYET,
AMERIBBEDAFELGCERTHIIELHYFET,

Fig. DFRRIZTDULNT

ATAMR—=UIT Fig. XXSRERTLTHYET . COXXKIEIATRIMN—D
ELtORHBELESZRLET,

” Ry
s KK (DTUFHT—R = BB« T —R) e 2
s AR (NURIL - BEHE) [BCS254H] ... 4
s AR (NURIL - BER) [BCS254H(Y18)] oo 6
S VAV Cy i A2 Ly ety SEIITY B2 3 8
IV Y (FXTLA = Ta—TIINAUYT » YL ILARBZ—H) e 12
S DA 5 2 1 OO 16
B T oo ss s sesesssessseeseeeseeeeseeeeeseee e 18



1 - BCS254H/BCS254H(Y18)
KK (OSVFT—R - HE - TY7—R)

T = ‘




B %

=R = = fied =

E.ng"? ann%"? I:IB AR % ﬁ-‘ 254H [254HY19) ﬁi:
1-1 364334 | BCS254H 1
1-1 364727 | BCS254H(Y18) 1
1-2 222179 | TUNDIY Y9347 1 1
1-3 215779 | H4hUvH 1 1
1-4 214365 | Y AMUMNAT 98T 1 1]56794
1-5 087786 | 6 h97HVEK Wb 2 2 | M5X25
1-6 012487 | E5%'0'% 1 1| M5
1-7 227934 | ¥ Xhr—-A947 1 1|8~137494
1-8 234109 | 6 H9FK Wb 1 1 | M8X8
1-9 092550 | 6 Y& Vb (+)SW 1 1 | M5X25-7T 77 &b
1-10 227947 | NEJR A A 9347 1 1
1-11 219195 | NnE/FK'AB 1 1
1-12 215610 | 6 H7F Lk WSW 1 1 | M8X22 k4
1-13 225896 | 6 HUHR Vb (+) 1 1 | M5X10 77° &b
1-14 211736 | wU44=%") B 1 1
1-15 211737 | NUN 2 2
1-16 236150 | MJH'LN—934T (24) 1 1
1-17 236111 | 3A7) 1 1| MAaY a9 - 74349
1-18 236308 | AAVRLTAY 1 1
1-19 234611 | Ao —tF1-7 1 1| 3" 7 980L RV
1-20 220549 | F1943-) 1 1 | PL(3%=1% E/G) AYn
1-21 236309 | *—A7°L—b 1 1 | BCS254H
1-22 220036 | 749347 1 1]23~25744
1-23 220037 | 74 1 1
1-24 011338 | O vy 1 1| P18
1-25 220041 | 40+ ¥7b 1 1
1-26 222669 | 979Fr—-A9357 1 1|27 ~ 3172494
1-27 220203 | 97YF—ATMA 1 1
1-28 217659 | ATYUY 1 1 | 6201 2RK
1-29 055186 | C h'4kA7 1 1| Y9312
1-30 016732 | Ch'4b*7 1 1| 7437 32
1-31 222670 | 97VFNTLTRA 1 1
1-32 092552 | 6 H7F b (+)SW 4 4 | M6X20 77 Yk
1-33 222821 | VAVAVAN-H34T 1 1| 34794
1-34 092561 | 6 A%K b (+)SW 2 2 | M5X25 77 &Yk
1-35 224693 | ¥Y7)— 10 BIG-M 1 1




2 - BCS254H
KK (NURIL - BER)




B %

=R = = fied =

E.ng"? ann%"? I:IB AR % ﬁ-‘ 254H [254HY19) ﬁi:
2-1 225950 | 7°7IbeRA 1
2-2 222326 | 77V KLk 2 M5X12 w7497
2-3 215230 | 3N A H AYEF YR 2 M5
2-4 222290 | 7-AtY 1
2-5 092578 | 6 HY&K Lk (+)SW 1 M5X10
2-6 084020 | Ih'% 6 H9F+Vb 1 M12X1.25
2-7 220381 | w4473 hH 1
2-8 226070 | 4-Y7'3rIk 1
2-9 232296 | 7'L—+ 1 22X60XT1.2
2-10 232318 | E7%"h'% 1 12.5X20XT1.6
2-11 211644 | ATV =2 1
2-12 220619 | ATYUY 1 #6001 2RS
2-13 092579 | 6 HYH Wb (H)SW 3 M5X12(S) (+)
2-14 220212 | K'Yy’ A 3
2-15 219959 | H#INRH D RYEFIb 3 M6
2-16 221668 | AR 1
2-17 219959 | HIN AN 2YFF UL 3 M6
2-18 215025 | ¥7T 1
2-19 227562 | A%IHTY B 2
2-20 092580 | 6 Y& IV (HWSW 4 M5X12(SM)
2-21 220054 | £AANVUN IR 1
2-22 220055 | WYhts' B 1
2-23 092579 | 6 HJH Wb (+)SW 2 M5X12(S) (+)
2-24 210400 | T ANVUR TP 1
2-25 214224 | W=7"n\UN Y38 T 1 26 ~ 28 741
2-26 213171 | nUNIWMYTT 4 1
2-27 222142 | tA2RY (HW 4 M5X28(MK)
2-28 081027 | 6 h9Fvhk 4 M5X0.8




3 - BCS254H(Y18)
KK (NURIL - BER)




B %

=R = = fied =
E.ng"? ann%"? I:IB AR % ﬁ-‘ 254H [254HY19) ﬁi:
3-1 225950 | 7°7IbeRA 1
3-2 222326 | 770V KLk 2 | M5X12 #7497
3-3 215230 | ¥\ A B RYEFYS 2 | M5
3-4 222290 | 7-AtY 1
3-5 092578 | 6 A% b (+)SW 1 | M5X10
3-6 084020 | Ih°% 6 H9F+b 1 | M12X1.25
3-7 227100 | ¥F479%h4 1
3-8 227540 | 4-Y7'3Ik 1
3-9 227552 | ATV H—A 1
3-10 220619 | ATy 1 | #6001 2RS
3-11 092578 | 6 HYH b (+)SW 3 | M5X10
3-12 220212 | K'Yy’ A 3
3-13 219959 | #INRH D RYEFIb 3 | M6
3-14 227550 | AR 1
3-15 219959 | #IN2H N RYEFIb 3 | M6
3-16 221669 | ¥7T 1
3-17 227562 | #%IHtY B 2
3-18 092580 | 6 HY# Lk (H)WSW 4 | M5X12(SM)
3-19 225115 | £F4N YN TR 1
3-20 210400 | I ANUFN VA 1
3-21 214224 | =7"nIN V34T 1|22~ 2479k
3-22 213171 | AUN VMY FT L 1
3-23 222142 | A 32y (W)W 4 | M5X28(MK)
3-24 081027 | 6 K91tk 4 | M5X0.8




4 - BCS254H/BCS254H(Y18)




B %

=R = = fied =
E.ng"? ann%"? I:IB AR % ﬁ-‘ 254H [254HY19) ﬁi: %
4-1 225949 | IUY°Y 1 1 | GX25T-SJS
4-2 464907 | 43095 -AtYk 1 1 | -3459656 7 ~ 10 744
4-2 469008 | 97v9—At9b 1 1 | 3459657- 7 ~ 10 794
4-3 642346 | Hn'—., YUEAYN 1 1|4~623794
4-4 640127 | AYNAN= V=) 1 1
4-5 640128 | AYNAN= JOAYE 1 1
4-6 642349 | 724M3— ., 7)Y 1 1
4-7 404715 | 7—L, 40749709 1 1
4-8 404716 | 7—L,I%Y - AMVL7OVA 1 1
4-9 464908 | Y74-23u77)—k (4ULY}) 1 1
4-10 464909 | Y74-13v77)—h (IXY'-A}) 1 1
4-11 640130 | A4 F1-7° 1 1
4-12 464910 | 7L—p7E07Y 1 1
4-13 464911 | Y7 7t077) 1 1| 14794
4-14 998201 | N'Y%Y 1 1
4-15 640134 | 7°)-% F1-7 1 1
4-16 642355 | 779", An'—=% (CM-5H) 1 1
4-17 642357 | Kb, YTYb 5X20 2 2 | -2353583
4-17 469009 | YrYMRILE 2 2 | 2353584~
4-18 640137 | YryhK Wk (5X30) 4 4 | -2353583
4-18 640137 | ViryhE Lk (5X30) 4 4 | 2464552-3459656
4-18 645947 | YrIhE Vb 4 4 | 3459657
4-18 469010 | YrYMK'ILE 4 4 | 2353584-2464551
4-19 642359 | A911., N 4X8 2 2 | -1037065
4-19 464912 | A4')1 (4X8) 2 2 | 1037066-
4-20 642360 | A9, ANINTYYRTA 2 2
4-21 642361 | & ILb, V7Y 5X12 2 2
4-22 626710 | +b 2 2
4-23 640141 | 4YEVH 2911 (4X12) 2 2
4-24 640142 | R7WUIEY 2 2 | 4X10
4-25 640143 | 9797 1 1
4-26 640144 | 9597 1 1
4-27 640145 | EANVTEYR 1 1
4-28 642363 | t'Aby 1 1
4-29 640147 | E'AMUEY 1 1
4-30 642365 | 47297+ COMP 1 1 | 4106943 2829 74L
4-30 469011 | #7299 %703077)—F 1 1 | 4106944 28,29 794
4-31 467131 | #4—I (12X24X5) 1 1 | -1037065
4-31 464916 | #4Iy—I (12X24X5) 1 1 | 1037066-
4-32 467132 | #4Iy—I (10X20X5) 1 1 | -1037065
4-32 464917 | #4I—I (10X20X5) 1 1 | 1037066-
4-33 404736 | WIVT ATLAY=I 1 1 | -1037065
4-33 464919 | N7 ATLY—I 1 1 | 1037066-
4-34 640152 | 0—3 1 1| 4X29.8
4-35 642370 | 7°=1) COMP hk 1 1




4 - BCS254H/BCS254H(Y18)




B %

=R = = fied =
E.ng"? ann%"? I:IB AR % ﬁ-‘ 254H [254HY19) ﬁi: %
4-36 640154 | 24309~k (71ZU6 G-300) 1 1 | -1037065
4-36 469012 | A43V9'A'ILb 1 1 | 1037066-2131334
4-36 642371 | 343U N bb 1 1 | 2131335-
4-37 464920 | 1ULYMNILT (ED 1 1
4-38 464921 | 1% —AM\ L7 (EE) 1 1
4-39 640157 | NI RTYUY 2 2
4-40 464922 | J7=1 (VT RTVUT) 2 2
4-41 640166 | 77 hn'— 1 1
4-42 626728 | 97YF ASSY 1 1
4-43 467135 | 97YFK b (6MM) 2 2
4-44 467136 | 7YY (6X15) 2 2
4-45 461827 | 9I-7"7Yv% 2 2
4-46 642357 | Kb, YUk 5X20 3 3 | -2353583
4-46 469009 | VUMK Vb 3 3 | 2353584~
4-47 643083 | ¥77 -COMP 1 1 | -2473616
4-47 464931 | ¥773v77—+t 1 1 | 2473617-
4-48 640187 | 4N 1 1
4-49 640188 | A4YNE b 2 2 | 5X52
4-50 640189 | b 1 1 | 5X10 -2353583
4-50 464932 | &ILb 1 1 | 5X10 2353584-
4-51 640191 | ®L70Y9FY+ 2 2 | 5mm
4-52 464943 | 19 =9%3Va{LTELTY 1 1
4-53 465223 | 774KANAV7)—h 1 1
4-54 640202 | AMYT'R4YF 32— 1 1
4-55 642422 | &b, VYL 4X14 2 2 | -1037065
4-55 464946 | Kb (4X14) 2 2 | 1037066-
4-56 640205 | 75v¥ TVb 1 1| 7mm
4-57 465224 | 19°29%3034 0 & 7F4KANFYH 1 1] 5253794
4-58 640206 | b7 HN-3V77)—h 1 1 | -3502720
4-58 642423 | in'— COMP +y7° 1 1 | 3502721-
4-59 640207 | &b 1 1 | -2353583
4-59 469014 | Kb 1 1 | 2353584~




5« BCS254H/BCS254H(Y18)
IOy (FvTLA - Ja—I )RS - Yaq )L REZ—A)




= ko= = Rvi [ ] N 1@ *3&
E.ng"? ann%"? I:IB AR % ﬁ- 254H [254HY19) ﬁi: %

5-1 640159 | Ja{R4—47+Y7") -2380556 2 ~ 5,7 ~ 10,13,14 7)1
5-1 642376 | JA(NARE—4THYT) 2380557- 2 ~ 57 ~ 10,13,14 7L
5-2 640160 | Ja{NAR4—4h—2

5-3 640161 | Y=l

5-4 626716 | O—7"h4N

5-5 640162 | R7vY

5-6 642380 | 7°=1),Ja{RI-4

5-7 642381 | 7—L, A94YY

5-8 467134 | J7° -2380556

5-8 626721 | A%—4)7 2380557~

5-9 626722 | O-7

5-10 626723 | A4')1

5-11 642382 | YrYhK Vb 5X16 —-2353583

5-11 469013 | Y UrK Vb 5X16 2353584-

5-12 642383 | &b, A4YM B

5-13 626724 | H3-—

5-14 633492 | h7— A

5-15 626734 | W AFYH

5-16 642386 | hATYL, KVT

5-17 642387 | 4 4%77L ASSY, 231Y)

5-18 626738 | 4 4¥77L
5-19 642388 | #'74 ASSY, V7’
5-20 626740 | KT 4TV

21 ~ 26 794

5-22 626742 | AULYR=—F N LT
5-23 626743 | A7
5-24 626744 | 241

5-25 626745 | £V
5-26 626746 | A3)U9 LN -

5-27 642389 | YUy Ty
5-28 626748 | O YUy

5-29 626749 | Hn—

5-30 626750 | R4AN

5-31 626751 | 2411

5-32 626752 | A4')a

5-33 626753 | A7V

5-34 626754 | 7YY

5-35 626755 | 774K VT

5-36 640173 | 744

5-37 642390 | ¥¥7°LATtU7" 15 ~ 36,44 79 L

1
1
1
1
1
1
1
1
1
1
1
1
1
1
2
1
3
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
2
4
1
1
1
1
1
5-38 642391 | NYEY 2¥7°L4 1
1
1
2
3

1
1
1
1
1
1
1
1
1
1
1
1
1
1
2
1
3
1
1
1
1
1
1
5-21 640171 | 29—V 1
1
1
1
1
1
1
1
1
1
2
4
1
1
1
1
1
1
1
1
2
3

5-39 640176 | Y1394 -3011889

5-39 464928 | Ya39F 3011890-

5-40 642393 | Kb 5X53

5-41 642382 | Vbbb 5X16 —2353583




5« BCS254H/BCS254H(Y18)
IOy (FvTLA - Ja—I )RS - Yaq )L REZ—A)




B %

=R = = fied =
E.ng"? ann%"? I:IB AR % ﬁ-‘ 254H [254HY19) ﬁi: %
5-41 469013 | Y YhE L 3 3 | 5X16 2353584~
5-42 626766 | O vy’ 1 1| 14.8X2.4
5-43 464930 | O )9 (12.3X2.4) 1 1
5-44 642398 | VIV #34 1 1
5-45 640181 | 7°L—b 1 1
5-46 640182 | ILAVH 1 1
5-47 640183 | /—& COMP I74')—7 1 1| -1326918
5-47 642402 | #—Z COMP 17— 1 1| 1326919-
5-48 640184 | hin'— 1 1 | -1610504
5-48 642403 | hin'— I749)—+ 1 1 | 1610505-
5-49 626244 | 752 b 2 2
5-50 626784 | 4'0AYh 1 1
5-51 640192 | 71-I)4v% 1 1
5-52 642413 | FIN—, BUIRIUTAVY 3 3
5-53 626789 | 71—-IN4V)¥¥Y7  ASSY 1 1
5-54 626790 | 71-IN74N4 1 1
5-55 640197 | ¥1-7° 1 1
5-56 626793 | 997’ 2 2
5-57 464933 | 7’0744 1 1
5-58 464934 | 71-INF1-7 A 1 1
5-59 464938 | 74VTAVY 1 1
5-60 640197 | F1-7 1 1
5-61 464936 | F1—7"3v7°—+h 1 1
5-62 626793 | 4v7° 2 2
5-63 426322 | H'OAYMTYY 71-I 1 1
5-64 464937 | 7'07494% 1 1
5-65 626784 | 4'OAYk 1 1
5-66 464938 | 74YT4VY 1 1
5-67 464939 | ¥1-7° 1 1
5-68 640197 | F1-7° 1 1
5-69 464934 | 71-I)F1-7 A 1 1
5-70 464941 | H)v7° 2 2
5-71 464941 | 997’ 2 2




6 - BCS254H/BCS254H(Y18)

~N)b)

1IN
A

s\/
‘9

A




B %

=R = = fied =

E.ng"? ann%"? I:IB AR % ﬁ-‘ 254H [254HY19) ﬁi: %
6-1 407564 | 7-=U9 3NN 1 1
6-2 467137 | AN (IVTLL) 1 1 | -1236700
6-2 464955 | Y9 (IY7°LL) 1 1 | 1236701-3502720
6-3 465225 | 3AN (fv4) 1 1
6-4 642428 | V=% 447" SJS 1 1
6-5 464958 | AN 1 1 | 4-STROKE -3502720
6-5 469015 | 370 1 1 | 4-STROKE 3502721-
6-6 465227 | 38N (FAL—43-93Y) 1 1
6-7 467138 | AL (IV7LL) 1 1 | 3502721-




7 - BCS254H/BCS254H(Y18)
/&M

b

1



B %

=R = = fied =
E.ng"? ann%"? I:IB AR % ﬁ-‘ 254H [254HY19) ﬁi:
7-1 221460 | K3 A% 1 1
7-2 220534 | HYnhin'- 1 1
7-3 222400 | IVERVIAANT 1 1 | 13X16X(+) N34
7-4 022865 | AT FANT 1 1| 8x10
7-5 210181 | LIN=nUK L 1 1 | 3.5X170L
7-6 219432 | 6 H9RHANT 1 1| ZAunn 4
7-7 222173 | A7— 1 1
7-8 211337 | YAFI-T7 YA 1 1
7-9 261878 | 6 h9FYh 2 2 | M6
7-10 220548 | NUN 2 2
7-11 236313 | MTURMEYAY3 1 BCS254H
7-11 241007 | MJTIRMEYA3 1 | BCS254H(Y18)
7-12 225938 | MJTYh4tYA¥I(GXTI7V) 1 1




AKX
EsEHERRERO
HLy K- pEr 42— EE 0120-898-114
ZFIFARER: AN9:00~PM5:00(1. B.#1B %k <)

Printed in japan 2019-08.SM

EHENEETY



	空白ページ

